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Instruction for the Candidates
Write your Roll Number in the space provided on the top of this page. Do not write anything else
on the Test Booklet except in the space provided for rough work.
This paper consists of seventy five (75) multiple-choice type of questions. All questions carry
equal marks.

" At the commencement of the examination, the question boeklet will be given to you. In the first 5

minutes, you are requested to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this
cover page. Do not accept a booklet without sticker-seal and do not accept an
open booklet.

(ii) Tally the number of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any other discrepancy should be got
replaced immediately by a correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet will be replaced nor any
extra time will be given. ;

‘Each item has four alternatives response marked (A), (B), (C) and (D). You have to darken the

circle as indicated below on the correct response against each item completely with Blue/Black

ball point pen as shown below. H.B. Pencil should not be used in blackening the circle to indicate

responses on the answer sheet. ' : .

Example: @ ‘ @ @ Where (B) is correct response.

Your responses to the each item are to be indicated in the OMR Sheet provided to you only. If you
mark your response at any place other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully. :

Rough work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or put any mark on any part of
the OMR Sheet, except for the space allotted for the relevant entries, which may disclosed
your identity, or use abusive language or employ any other unfair means, such as change
of response by scratching or using white fluid, you will render yourself liable to
disqualification. ,

You have to return the original OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the Examination Hall. You are however,
allowed to carry original question booklet and duplicate copy of OMR Sheet on conclusion of
examination. .

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy found in the English and Hindi Versions, the English Version will be
treated as final.

CARRYING AND USE OF ELECTRONICS/COMMUNICATION DEVICES IN
EXAMINATION HALL ARE NOT ALLOWED.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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Time Allowed : 214 Hours]

EDUCATION
Paper III

[Maximum Marks : 150

Note — This paper contains seventy five (75) objective type questions of fwo (2)

marks each. All questions are compulsory,

1. Shaping of behaviour, according to Skinner, means :

(A)
(B)
(C)

(D)

Giving continuous practice until the behaviour is thoroughly learned

It is nothing but another name given to over learning

Breaking the task into small easier steps and providing reinforcement

at each step

It is the same as mastery learning

2. Match the following List-I and List-II and give your answer from the codes

given below the lists :

List I
(@)  Apperceptive mass
(b)  Transposition
(¢)  Theory of identical elements
(d)  Negative reinforcement
Codes :

(@) (5) (c)
(A) (iiz) (z) (iz)
(B) (i) (v) (i)
(&) (v) (@) (ii7)
(D) (v) (i) (iv)
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(i)
(i)
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()
(v)

(d)
(iv)
(iti)
(iv)
(i)

List II

Gestalt field psychologists
Judd

Skinner

Thorndike

Herbart
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3. For enhancement of creativity, children need special care and education. Which

of the following is not included in such measures ?

(A) Provision of co-curricular activities

(B) Brainstorming

(C) Emphasis on divergent thinking exercises

(D) Encouragement of problem solving behaviour
4. Who wrote the book “Conditions of Learning” ?

(A) Robert Gagne (B) B.F. Skinner

(C) dJohn Dewey (D) Jerome Bruner
5. Which of the following in not true ?

(A) Concerning his theory of learning Vygotsky stresses the fundamental

importance of social interaction in the development of cognition.

(B) Bandura’s social learning theory emphasized the importance of

observing and modeling of behaviour and attitudes and reactions of others.

(C) The focus of Gagne’s learning theory is on the development of social

skills.

(D) Bruner’s theory of constructivism is based on study of cognition and

considers learning as an active process.

T.B.C. : 22/17T/ET—III 4
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6. Of the following psychologists who popularized the concept of emotional of

intelligence ?
(A) Reuven Bar-on (B) Daniel-Goleman
(C) Payne (D) Gardner Lisa

1 In the mid-twenties Anderson, Krathwohl et. al. revised the six category of
cognitive domain of Bloom’s taxonomy. Which of the following represents the

revised one ?

(A) Remembering, understanding, applying, analysing, synthesizing,

evaluating

(B) Remembering, understanding, applying, analysing, evaluating,

creating

(C) Knowing, comprehending, applying, analysing, synthesizing,

creating

(D) Remembering, understanding, applying, analysing, creating,

evaluating

8. “Object Permanence” relates to which of the following stages of cognitive

development as propounded by Piaget ?
(A) Sensory motor stage (B) Pre-operational stage

(C) Concrete operational stage (D) Formal operational stage

T.B.C. : 22/17/ET—III 6
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10.

11.

12.

Which of the following psychologists gave the concept of fluid and crystallized

intelligence ?

(A) Wechsler (B) Thorndike

(©) Cattell . (D) Gardner

To which of the following types of values does the given statement refer ?

Statement : No behaviour in a given circumstance can be termed good, if

it is not rational ?
(A) Religious (B) Aesthetic
(C) Social (D) Ethieal

Who is the author of the book entitled “Four Philosophies and Their Practice |

in Education and Religion” ?

(A) R.S. Peters (B) J. Donald Butler

(C) Gilbert Ryle (D) John S. Brubat_:her

Which of the following is not an MDG (Millennium Development Goal) ?
(A) To reduce child mortality

(B) To reduce extreme poverty and hunger

(C) To eradicative the problem of untouchability

(D) To achieve universal primary education

T.B.C. : 22/17/ET—III 8
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13.  In the context of EFA, (Education for all) which of the following is the correct

combination ?

(A) Delhi‘ | Declaration—1993

(B) World Education Forum, Dakar-—2000

(C) Beizing !Declaration of E-9 Countries—2002
(D) Jometien Conference—1996 - -

14.  Concerning the relatidnship between Philosophy and Science, which of the

following 1is not true ?
(A) Both Philosophy and Science are fields if inquiry and investigafion.

(B) The method of Science is empii'ical and'descriptiVe, the method of

Philosophy is interpretive and inferential.
(C) Both produce bodies of knowledge which are testable in experience.

(D) Using reliable and valid instruments, science seeks to find facts or causes
of facts, philosophy starting with these facts interprets the meaning and

significance of the same in and for life.

15. The educational sociologist sees the task of school learning:as primarily that

of :

, (A)’ Developing the in group to secure social interaction
(B) Acquiring a mastery over a intellectual subject matter
(C) Furthering self expression

(D) Acquiring useful work habits

T.B.C. : 22/17/ET—III ' 10
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16. The main reason for high school drop-outs is :
(A) dissatisfaction with the school programme
(B) poverty of the parents ot continue schooling
(C) dissatisfaction with the teachers
(D) desire for employment
17. The most valid indicator of good classroom discipline is :
(A) absence of noise and disorder
(B) the degree to which students master course content and skills
(C) students conformity to rules and regulations

(D) the extent to which students accept responsibility for self direction

18.  Which of the following statements is correct concerning interpreting the phrase

“needs of the children” ?

(A) all philosophic groups agree that education must be rooted in the stu-

dents own felt needs

(B) the experimentalists say that needs must involve intelligent considera-

tions of probable outcomes

(C) the realists say that needs of the students are his impulses or wishes

of the moment

(D) the pragmatists say that need is that which adults feel is good for the

student

T.B.C. : 22N17/ET—III 12
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19.

20.

21.

22.

Dewey has frequently emphasized that “We learn to do by doing.” Ultra-

progressives in education have failed to recognize that “doing” may be :
(A) Thinking (B) Planning

(C) Overt action ' (D) Construction

Who of the following thinkers, defined education as “divine perfection already

" existing in man” ?

(A) M.K. Gandhi (B) Swami Vivekananda
(C) Aurobindo Ghosh ' (D) R.N. Tagore

The concept of Pratityasamutpad is an important concept in the Philosophy

of :
(A) Buddhism (B) Jainism
(C) Samkhya (D) Vedanta

Which of the follovs}ing is an essential element of probability sampling ?
(A) Population size

(B) Characteristics of population

- (C) Stratification of population

(D) Randomness of selection from population

T.B.C. : 22/17/ET—III 14
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23.  Which of the following is not an important criterion of Experimental

Design ?
(A) Appropriateness (B) Adeqaucy of control
(C) Validity ' (D) Population

24.  In the context of historical research, study the following statements and select

the correct answer from the codes given below :

(@) A primary source of one study could be a secondary source for another

study and vice versa.

(b) A source is either primary or secondary for all studies.

Codes :

(A) Both (¢) and (b) are true
(B) Only (a) is true

(C) Only (b) is true

(D) Neither (a) nor (b) is true

25.  Which set is not an essential characteristic of experimental research ?

(@) control (b) manipulation
(¢) observation (d) sample

(e) tool (f)  repetition
(A) (a) and (b) (B) (b) and (c)
(C) (d) and (f) (D) (a) and (f)

T.B.C. : 2217T/ET—III 16
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26.  Which of the following conditions are essential for random sampling ?

(a)

(b)

()

(d)

(A)

(©)

Each subject has equal chance of selection.

Select.ion of a subject does not effect the chance of selection of other.
Homogenity of population

Heterogenity of population
(@), (b), (¢) are true (B) (a), (b), (d) are true

only (a) and (b) are true (D) only (a) and (d) are true

27. A researcher found calculated 4’ value significant at 0.05 level between two

means of achievement of students of private school and state school.

Which of the following statements is true on the basis of above ?

(A)

(B)

(®)

(D)

Null hypothesis may be retained and Research hypothesis is also

retained

Null hypothesis may be rejected and Research hypothesis may be

retained
Both hypotheses—Null and Research—are rejected

No decision can be taken on the basis of calculation

T.B.C. : 22/17/ET—III 18
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28. American Psychological Association format (APA format) was accepted

by a researcher for reforming what is the sequence of the following in the

format ?

(@ Title | () Year of Publication
(¢) Place ;)f Publication (d) Publisher

(e) Author B

A) (@, (o), 1), ), () B @, 0) @, @), @
(©€) (o), ®), (@), (o), d) | (]5) ), (@), (¢), (d), ()

29. A questionnaire has limitations. Which are of such limitations diminishes the

iralidity of the questionnaire ?

(A) Large number of »respondents mays not fill it properly
(B) All responses are to be taken on face valﬁe

(C) It is difficult to administer on children and illiterates

(D) A limited number of items can be included

30. Which of the following is most appropriate for selecting purposive

sampling ?

(A) Convenience of the résearcher
(B) Objectives of the study

(C) Availability of cases

(D) Economy of resources

T.B.C. : 22/17/ET—III 20
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31.

32.

Different authors have defined administration and management in different
ways. In column I names of the authors are given and column II contains
different views :

Column I Column II
Author Views
(1) Willidam Newman (a) There is no distinction between

management and administration
(2) E.F. Brech " (b)  Administration is a determinative
function and management is an
executive
function
(3)  Mecfarland (e) Management is a generic term
and includes administration
Correct matching is :
B (D—B), @—), B)—a) B) (D)—b), @—@), B)—(c)
(C) (W)—e), (2)—b), (8)—(a) (M) (1)—a), (2)—b), (3)—(c)

Which of the following is not a characteristic of theories of educational
management ?

(A) Theories tend to be a normative, that is they reflect beliefs about the
nature of educational institutions and the behaviour of individuals with-
in them

(B) Theories tend to be selective or partial in that they emphasise certain
aspects of the institution at the expense of other

(C) Theories of educational management are often based on or supported
by observation of practices in educational institutions

(D) Theories provide the administrator with a conceptual framework for the
collection and ordering of data, information and observation in
management

T.B.C. : 22/17T/ET—III 22
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33.  Which of the following are agencies of education performing functions of non

formal education also :

(1)
(2)
(3)
(A)

(C)

IGNOU

Academic staff colleges

IASEs
1), (@), 3) OB W@

(2), (3) D) (D), 3)

34. Which of the following is a function of Central Advisory Board of Education
(CABE) ?

(A)

(B)
(®)

(D)

To bring about the coordination and cooperation between the union and

states in the field of education
To provide financial grant to educational institutions
To provide guidelines to educational institutions for preparing curricular

To select personnel for educational institutions

35. Which of the following car. be classified as centrally sponsored scheme ?

(1)
(2)
(3)
| (4)
(A)

©)

Mid-day meals

Sarva Shiksha Abhiyan

Rashtriya Madhyamik Shiksha Abhiyan

Lok Jumbish

(1), (2), 3), 4) B) (1), (2), (3)
2), 3), @ D) @), @), @
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(B) Vferw wxgm &1 fdd WEE W Al
(C) Vs dror F1 ug=Eal sFF d R 9.E &EE
(D) Wfers el & fon =afwm@d &1 =3

35, fr= 8 ¥ FW = whe Gomel # afiga fFm s gw@ ¥ 7
(1) weare SN
(2) & foan sfwEm

(3) =g meames e #AiagE

(4) @ Sfed
(A) (1), (2), (3), (4) (B) (1), (2), (3)
(C) (2), (3), (4) D) (1), (2), (
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36.

37.

38.

An educational institution can be called truly autonomous, if it has :

- (D)

(3)
(A)
(®)

Academic autonomy (2) Administrative autonomy
Financial autonomy (4) Class autonomy

(1), (2), 3), @) ® M, @, O

@, @, @ D) (2), (3), @)

Which of the following are sources of income of universities in India ?

@)
(@)
€223)
(iv)
)
(A)

()

Grants from central/state governments

Contribution from students fee

Endowment/donations

Support from national/international socialised agencies
Leasing out university property

@), @), (ii), (iv), (v) (B) * (), @), (i), Gv)
@), @), ©) D) @), i), ©)

Among the following which are the major responsibilities of University Grants
Commission (UGC) ?

)
(i)

(i)
(iv)
(A)

(©)

Promotion and coordiantion of University Education

Determination and maintenance of standards of teaching a;ld examination
in universities

Determination and maintenance of standards of research in universities.
Ensuring increase in enrolement in higher edcuation.

(@), (o), (i), Gv) B) @), (i), (i)

@), (@), Gv) D) @), Gu), Gv)
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36. TUF JfaE SUF F GG T § SRR FwW W GHA € 9% T8

(1) e @R (2) WRIEE TR
(3) onfdw TwRmHE W (4) o TErEE
A) ), (@), (3), (4) B) @), ), 3)
©) (@), D), @ D) (2), (3), (4)_

37, & et W o % G e § S AR ¥ 2
() T I FF WHEN § A
(i) foenfEbl ¥ w@ e
(i) e/ |
Guv) T R JAEE TeurE § waam
(v) favafgaem =t gwfw & 9g W
A G, G), (), (v), ) B) @), Gi), i), Gv)
©) @), @), W | D) ), Gid), )

38, fovafoee™ oTEM WM & Y@ SWE ¥ &MY T ?
G) fovafoemert faan &1 Seed R gH=EA |
) e Prerdt § fem o whmed # w0 A P i s
Gii) Tovafoaradl & ordym & Wl &1 FuRw iR sTRam™
() mﬁmﬁmﬁﬁgﬁfﬁam
A) @), (@), (D), (i) B) @), Gi), (i)
©) @), @), Gv) D) @), (i), ()
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39. Salaries of teaching and non-teaching staff are the part of :
(A) Maintenance grant (B) Non recurring grant
(C) Development grant (D) Extension grant

40. In order to study the interest of a student each of the following tools could

be used. Which of these tools is most dependent only on the subject ?
(A) Interview (B) Observation
(C) Personal inventory (D) Rating scale

41. The adequacy of Norms for a tool is judged for interpretation of results on

the basis of combination of which of the following factors :

(@) Relevance (b) Up-to-date

(¢) Adequacy (d) Age

(e) Sex (fy Caste

(A) (a), (b), (c), (d) (B) (), (e), (d), (f)
(C) (), (d), (e), () (D) (d), (e), (), (B)

42. The Rank correlation method was propounded by :
(A) Spearman (B) Pearson

(C) Wileoxn (D) Likert
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39 dfae sk i e wH=E @ 99 o= da § 2
(A) TE@E U * (B) R gWEf 7
() fowmg ure D) fomr 7=

40. @Tﬁiﬁ@f%ﬁﬂ'wawﬂqm%msﬂﬁ@ﬁmmwmwm
%lﬁﬁ@ﬁ?wwmﬁwmmﬁwwm% ?

(A) WIETHR | (B) ool
() F g D) Fekor =

41, frdt suwtor & fou meet @ yaiwa & ufomE =t e e A 9 fEe e Re
T W omeifE ¥ ? |

(@) SR (b) oTEMEf®

(c) TAfwn d)

() fom ()

A (@), ®), ©, @ B) ®), ©, @, .
©) (o), @), (@), | D) @), (e), (b)ﬁ

42. Wmﬂﬁfﬂﬁ?mi‘l :
(A) THHA (B) e

(C) foempas D) fowe
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43. Which of the following can be measured in discrete value ?
(A) Achievement (B) Attitude
(C) Interest (D) Attribute

44.  Attitude test constructed on Likert scale. What is the scoring procedure for

each item ?

(A) Each item has equal weightage

(B) Different item have different weightage

(C) Weightage of each item prefixed but different
(D) Weightage of each item is fixed subsequently

45.  The process of evaluation is best described by a sequence. Arrange the following

In a sequence :

(z) Evaluation | () Constructive test

(iti) Examination (iv) Assessment

(v) Measurement (vi) Objectives

(A) (vi), (1), (iid), (v), (iv), (£) (B) (), (ir), (i), (vi), (v), (@)
(C) (vi), (v), (@), (D), (iv), (ii) (D) (), (), Giz), ), @), (vi)
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43, T 8 @ 59 o90q 99 H A9 W 9 § 2
(A) ITEH B) #fgfa
(C) afysfa (D) &0

44, o= Tmm w efugfa odem s9m T e WOE YT HR W HHA HXA

wfwar F= % ?

(A) TH % H A §HA ¥

(B) 2@ Wg &t W@ e &

(C) werk T & wifter weet @ Fwifia, Sfe eem &

(D) v 7g F1 wite fafeea, dfe ag | fwifa = smof

45. eIFA H 9 1 39" v U W A A S g1 e s @ H s
FHifad

(i) A (i) wderor &1 FEm
(i) wEn (v) Fed Ture
) (i) T

(A)  (vi), (ir), (i), (v), (v), (@)

(€) Wi, (v), (@), (D), (iv), (D)
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46. 80 students of a class were arranged according to their height. The median

of the class will be :

(A) Height of the 40th student from the beginning

(B) Height of the 40th student from the end

(C) Difference of the height of the 40th and 41st students
(D) Mean of the height of the 401;1‘; and 41st Studér;ts

47. In case of objective type tool of measurement study of the following statement

carefully. Then answer the correct set of statements :

(@) If tool is objective, measurement of objective and if tool is subjective,

measurement is subjective

(b) If tool is objective, assessment is objective and if tool 1s subjective,

assessment is subjective
(c) Assessment is always subjective
(d) Evaluation is always subjective
Which one is the correct combination of statements.
Set of statements :
(A) (a) and (b) are true, (c¢) and (d) are false
(B) (a), (¢), (d) are true (b) is false
(C) (a) is true, (b), {¢) and (d) are false

(D) (b) is true, (a), (¢) and (d) are false
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46. TH Fe & 80 BEI F) ITH! HIE F TUN FHaUd fFA T TH Fe FH gIEH
B

(A) IF 9 409 TF HI 2R
(B) 2@ & 403 B F1 9%
(C) 403 @R 413 B I 398 & WK
o aoh ok wid emad P
47. IS gheam & ded § fed 13 wee @ eieyed wiftee | R wEl el & T5=ea
FH I IMNY

(@) @fc e sfase ¥, A oft axgitss § eir afe wleam st 2 979
off =fsafrs 2

(b) BT Thgw FEge ¥, gea ke ff s § gl odam sfmf= 2 5=
frufzo o saffs

() Weg frafto sdwn eeafss ®

(d) TeaFd FHIN IAS T

FoAl H GH=ET

(A) (a) ¥R (b) 74 %, (c) 3R (d) 39F &
(B) (a), (¢) 3R (d) T T (b) 310A ¥
(C) (a) & 7 (b), (¢) 3 (d) A ¥

(D) (b) §F %, (@), (c) IR (d) 3|A &
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48. The score of achievement cannot be taken on :
(A) ‘Ordinal scale (B) Interval scale
(C) Ratio scale (D) Fixed scale
49. MOOCS is built on the idea of :
(A) Group learning (B) Web-based learning
(C) Peer lee;rning (D) Cooperative- learning

50. Which of the following capabilities cannot be simulated by artificial

intelligence ?

(A) Natural langauge processing

(B) Understanding human speech

(C) Strategic games such as chess

(D) Understand experience and values
51. What is not true about educational technology ?

(A) It is a study of ethical practices of facilitating learning

(B) It is a study of ethical practices of improving performance

(C) It is another name given to technology education

(D) It is used of appropriate technological processes and resources
52. Which of the following is not an example of synchronous e-learning ?

(A) Skype conversation (B) Discussion Boards

(C) Virtual class room (D) Chat room
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48. Iudfey & 3 &A@l fa@ S WhAl
(A) FHEEFE THH W (B) 3fauad IAM T
(C) I THH W (D) fafv=a oM W

49. TR (MOOCS) fasiftd & 36 verd W :

(A) ¥z AE™ (B) o= enenfia sifH
(C) TgFa AT (D) FeFR Af™

50. fo= # § @ awa @ FOW d9fs B g g 1@ A S w7
(A) e wmn FwH
(B) HHd W™ HHIA
(C) TR Td S8 ¥
(D) ¥A%E W@ A H FEE

51, Sfas awdiel & @69 § # uF T 2 7
(A) T7 Aferm @ ded w0 9 Afas aeRl w ST ©
(B) 77 FEviad § U @ @l Afas oewni w1 AT ©
(C) =& aEA e &1 gga W @
(D) =F ITgH Tl GRS SR wEeR w Oy ¥

5. = # ¥ N wwwfos -afam w1 e W T ?
(A) THTEI AriCd (B) wf==i 4

(C) MYl T HaE (D) =T F4

T.B.C. : 2217/ET—III 35 : P.T.0:



3.

o4,

56.

57,

Which of the following is different from the rest ?
(A) Flipped classroom (B) Video conferencing
(C) Message boards (D) Blended learning

Which of the following is not the basic way in which information from memory
can be retrieved ?

(A) Recall (B) Recollection
(C) Reflection (D) Recognition
Advance organizer model was initiat-ed by : _
(A) J.S. Bruner (B) David Ausubel
(C) Carl Rogers (D) Suchman
Which of the following is not a projected aid ?

(A) Display boards (B) Epidiascope
(C) Transparencies (D) Tape recorder

Match List-I and List-II given below and select your answer from the codes
given below the Lists (Ref. principles of programmed learning) :

List-I List-I1
(@)  Principle of small steps (i) Checking
(b)  Principle of active responding | (1) Testing
(¢)  Principles of immediate confirmation (izi) Writing
(d)  Principle of self pacing (fv) Advancing
(v) Reading
Codes
(a) b) (e) (d)
(A) () (i1) (L) (iv)
(B) (iif) (1) (v) (i1)
(C) (v) (2i1) (iv) (iz)
(D) (iv) (z) (v) (it)
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53. fr=1 & @ &9 9! § M ¥ ?

A) Tre wmeEd (B) difgsh =ihy
(C) &S A (D) =frss afm
54, T § ¥ ¥F aRSd ¥ gEA QA WG HA H1 qel ale T g 2
(A) TR FHE (B) TH: THG I
(C) famf= (D) TEE
55. TEAM SUHRSR Hied ol IE fehar o ¢ 5
(A) J.TH. TN (B) <fag g
(C) = 9" (D) T
56. = # ¥ = vaftm wEEm @ T ? |
(A feet &€ | (B) wdifearehly
(C) TR (D) ufterTER

57. gELI 3R GELII 9= S T € 39 *Ie ¥ M w6 % W WO 99 Fieg
(sfsfag stformg & g2y #) ~

-1 - get-11
@ ®R W F Hg= @)  Sire
) wfwa sfEw w1 fae (i) e
(¢) S T g i) o
(@ R s g (v) ST TEN
' (v) A

RE :

(@) ®) (c) (d)
NN C) (i) @) (iv)
(B) (i) @) ) @)
©) () (iif) (iv) (it)
D)  (v) @) ) (i)
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58.

59.

60.

61.

Which of the following categories of MR children fall under the category of

trainable children only ?
(A) Mild and Moderate (B) Moderate and severe
(C) Severe only (D) Severe and profound

Which of the following is not a symptom of children suffering from Down’s

syndrome ? i
(A) Small head and ears (B) Eyes that slant upward
(C) Flat facial features (D) Extra long fingers

Which of the following is not a feature of plus curriculum ?

(A) Activities meant for providing compensatory experiences to visually

impaired children
(B) Activities relating to development of social skills

(C) Activities and experiences which are worthwhile in themselves but not

overly included in the curriculum
(D) Activities that relate to sensory motor experiences

Which of the following is not characteristic of Visually -Impaired (VI)

children 7

(A) Bumping into objects in the environment

(B) Depending too .much on oral information

(C) Frequently requesting the teacher to repeat questions, instruction ete.

(D) Regular headaches
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58, TR w9 @ e S W A W St @ W § o 2
(A) 31e9 3R meFari (B) weerl SR i
© dmdm D) T s TR

59 fyefafad § @ @r dem T fem ¥ difed s @ e W ¥ 2

(A) o= R SR B wF (B) W & IR s ad

(C) =9 HEmHd (D) ercaferen ot STferal
60. Trefafen #§ SFE o0 @ WeEEd H W ¥ 2
(A) e T Y el s S T fR-we 3 S afigfd e e i
€
(B) S HRTel § Hetud fEa-sher

©) U fra-wan R s S wE F wew d Wy e w1 § weEes =
wfmfera =

D) T fra-weam fF & doy GOk W el ¥ ®
61 Freffefad § e aw ey w9 4 afd s w0 e Td o
(A) araERe § faEmE axgel 9 T |

(B) Tifes IA & Wa orfus s e

(C) TH ¥ IR-IR FY wA F 9 AW G A AW F T =

(D) Trafie w9 ¥ f § 3 a0
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62.

63.

64.

65.

66.

Occupational therapy does not include :
(A) Therapy in mental health

(B) Speech therapy

(C) Physical therapy

(D) Placement in suitable occupations

Which of the following is a plus curricilum activity for the hearing impaired

(HI) children to communicate effectively ?

(A) Use of . abacus , '(B) Use of Braille

(C) Use of prosthetics (D) Speech therapy

Total communication approach is used for :

(A) Visually impaired child (B) Hearing impaired child

(C) Mentally retarded child (D) Child with physical disability
Which of the following is an Assitive Device (AD) ?

(A) Joint replacement (B) Artificial leg

(C) Speech therapy (D) Cochlear implants

Which of the following statements is not true about the use of assistive

technology for disabled children ?

(A) It can improve access to environment

(B) It can compensate the reduction in experiences faced by persons with
disabilities

(C) It can remove the handicapping condition

(D) It can control the environment in relation to self

T.B.C. : 22/17/ET—IIL 40



62.

63.

64.

65.

66.

st e @ orara frefafem § & #0 T@ o T 2

(A) THfgs @ geHl fafeem

(B) @i fafwaa

(C) it fafwan

(D) SUgFd FEEEl H T
ﬁwﬁf@ﬁﬁaﬁﬁwwmm%mﬁ;ﬁmm@aﬁmﬁ

qur ®Y @ GG w TE 2 >
(A) FarHE FH WEM (B) ol &1 WA
(C) Ffaw M 1 ITER (D) il feee

T Gen IUETH & WA frefatea d fRe & fau g § 7

(A) TeE w9 Y afore w= (B) s ¥ ¥ e =4
(C) s ®9 § Ak w= (D) wriftw Frfaa ot a=3
frefafaa § Ha T FeEE 49§ 7

(A) T w1 e (B) FHfm =m

(C) amht fafee (D) FRfem (Foied)

SYERAnTE A= # YA o A e drifre & fawa A s v ==
T e ? | '

(A) =% ST ¥ IEERT # ud Tge # GuR A 7

(B) T WM F syl H o aweft wH H afayfd & THd F
(C) TR STl (SN F e FFER & A §

D) A wd F ufq awE # et s oww §
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67.

68.

69.

National Curriculum Framework for Teacher Education, 2009 (NCFTE)

focuses on preparing teacher who is :

(A) knowledgéable teacher

(B) well veresed with method of disciplining students
(C) a reﬂectiveg‘ teacher

(D) having good social relations . -

Four year integrated teacher education prdgrammes are being preferred
over two year teacher education programme as these are supposed to
provide : '

(@) better subject knowledge

() better knowledge of methodology

(¢) more time to reflect upon theory and practices of education

(d) more time to acclimatise students with atmosphere of teacher education

institution

() more time to inculcate values and should attitude of students

Codes ,
A (@), ), ©), @), @) B) (a), ®), (), @
©) (a), ®), () D) (), (@), ()

All teacher education institutions should get them accredited mandatory
by :

(A) National assessment and accredition council
(B) National assessment and accredition commission
(C) Quality council of India

(D) Quality control council of India
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67. U= wgeAl w1 (2009) H UG TH HUATE TAR HCW € A
(A) ¥
(B) =@redi & FINfEa HIA SO SEar @l
(C) fomgiw @
(D) foms wmifes day o= @

68. Wmmmmﬁmﬁﬁﬁamﬁmﬁmmﬁ
aer e WU WA &, Fie 4 FEEY

(@ favg =1 @ 99 JSH F FHd o
(b) fToreror fafudt =1 @9 «ft o= @@ %
) foen % foge oiw 9fg w fawsl @ & fau sifvys w99 fooa @

(d) ToenffEi ) sreames wfeo deel § o s sl s & fog sifus
77 fga = 2

(e) wr=di # gou fawfam w01 iR w71 wfvgfa =i g = fog sifvs @ foa
iGN
FT
(A) (a), (b), (c), (d), (e) (B) (a), (b), {c), (d)
(C) (a), (b), (e) (D) (c), (d), (e)
69. oeaTTs foien weensdi =) fefafea § € feed gt & s =fer 7
(A) T fagio qen yeareE 9ieg
(B) g fAuior a9 wewrEa S
(C) HRA =l TUET TJRug,
(D) “Ra 1 e FrEEm 9
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70.  Arrange the following is chronological order :
(1) Charter Act
(2) Wood’s Despatch
(3) Stanley’s despatch
(4) Indian Education Commission (Hunter Commission)
(5) Sargent Report
(A) (1), (2), (3), (4), (5) (B) (1), (3), (2), (5), (4)
(C) (1), (3), (2), (4), (5) (D) (1), (2), (3), (5), (4)

71.  Which of the following Education Commission in Independent India first time

emphasised on removing the isolation of teacher education ?
(A) University Education Commission (1948-49)

(B) Secondary Education Commission (1952-53)

(C) Education Commission (1964-66)

(D) National Policy of Education (1986)

72. A pedagogy differs from methodology as it is :

(i)  Culture specific (1z) Social class specific
(i) Subjective specific (iv) Teacher specific
(A) (1), (D), (i), (iv) (B) (), (u), (izz)

(C) (1) and (1) (D) (iit) and (iv)
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70. frefafed ®1 FoEEHE 9 4 orafem #i

(4) e foan smEm (8 M)

(5) W e
(A) (1), (2), 3), (4), (5) (B) (1), (3), (2), (5), (4)
(C) (1), (3), (2), 4), (5) D) (1), (2), (3), (5), (4)

71. T uRd § frafafea § 4 $98 fen omEm 3 geel g s e | e
N W FA R Fed faa ?

(A) fovafaarera fien s (1948-49)
(B) weAfgs foien M (1952-53)
(C) foien =M (1964-66)

(D) U= faan Hifd (1986)

79.  foeomre yonen fawm @ 3w w9 # fy= dm g fE faaoems

() uwfa faferme @@ € Gi)y wHfsE o fafre @ &
(i) Toom fafere @ % (iv) @wEmE fafese 3 2
(A) (@), D), Gid), (iv) (B) (@), (i), (ifd)

(C) () #R (i) (D) (i) #R (iv)
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739 The first concern of the organiser of inservice teacher education programme
will be to :

(A) identify quality resource persons
(B) prepare the schedule of the programme
(C) identify the need of the participants
(D) cater to infrastructural needs
74. Main objectives of Sarva Shiksha Abhiyan are :

(i) Providing universal access to education to all children in the age group

of 6-14 years,

(ii) Achieving universal retention to all children in the age group of 6-14

years.

(iif) Providing quality education to all children in the age group of 6-14 years.
(iv) Providing mid-day meals to all children in the age group of 6-14 years.
(v) Abstain from detaining any child in the age group of 6-14 years.
(A) (D), (i), (iv), (v) (B) (&), (ie), (ie)

(C) (i), (p), (v) (D) (i), (v), (v)

75 Which of the following institution is not established under centrally
sponsored scheme of teacher education as per national policy on education
1986 ?

(A) District Institutes of Education and Training
(B) Colleges of teacher education
(C) State institution of teacher education

(D) Institutes of advanced study in education
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73.

74.

75.

Waﬁzﬂmawmﬁmm%mﬁmﬁm@ﬁmﬁfmﬁ
§ FHE B ?

(A) T foRieEl R wEEE wT

(B) #rwA @1 Riggel TOR F

(C) Tewifidi &1 sEvaFael ®i TEaH FHA
(D) =rErE sevEsmais w1 gfd HT |

Td foen ofiem ® 96T Seyd A4 € 7

@) 614 39 F wh a=E w a & fau wEdfER € W_E FT
(if) 6-14aé$mﬁaa‘iwvﬁaﬁfqa;uf:{mmm

Gii) 6-14 I8 B Tl = F e A WRLE B

(v) 6-14 T4 F GH F=El & AAFE HSH FIH B

W) 6-14 38 & fRdt off a=a ® JFA F T

(A) (), (i), (i), @) (B) @), (@), Gii)

(©) (i), (D), (iv) (D) (iid), (iv), (V)

o wrn S T faan A, 1986 F AR fe el # 1 yE
A QT8 wenfua G T ¥ 2 |

(A) fefigm gz of% T T8 g
(B) WA i TR THIH

(& @zmmww

D) TG A TEaRe ©E T TR
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